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1. BEEBOE
(1) B
ZMRE
Egd 900,000 900,000 0
ERERE 10,808,000 10,984,000 -176,000
2HheE 80,000 80,000 0
== g
s mE 2,301,500 2,500,000 -198,500
i EBE 0 0 0
BEIRA 150,000 135,000 15,000
HEE I
ZTOMBmREE 0 0 0
HULA
ZHRFE 0 0 0
HURA 0 100,000 -100,000
BEINEE 14,239,500 14,699,000 -459,500
(2) BEER
BxE
=BE 1,445,750 1,078,800 366,950
REE 535,000 493,000 42,000
HERE 65,000 104,200 -39,200
EIESY: X 2,136,100 1,924,500 211,600
BIEEWE 2,260,050 2,052,000 208,050
BAENE 0 0
EFitE 497,500 591,980 -94,480
Btk 2,409,850 2,452,000 -42,150
&EfE 45,400 200,400 -155,000
HERERE 50,000 30,000 20,000
BNE 30,000 20,000 10,000
fiEe 50,000 60,000 -10,000
HE 140,000 190,000 -50,000
THERWHBE 0 0 0
EERE
WwEFL 1,600,000 1,600,000 0
=EBE 140,000 120,000 20,000
REE 100,000 40,000 60,000
HERE 120,000 120,000 0
LY X 180,000 180,000 0
BIEEWE 1,580,000 1,662,000 -82,000
E£itE 40,000 60,000 -20,000
Btk 0 0 0
EEE 750,000 750,000 0
SEIKE 30,000 30,000 0
HERERE 150,000 150,000 0
BNE 100,000 100,000 0
=Eick o 150,000 140,000 10,000
HE 150,000 150,000 0
gk 0 0 0
BREER 14,754,650 14,298,880 455,770
LEAR R -515,150 400,120 -915,270
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(1) #EESIRE
BEsMRAEET 0 0 0
(2) BENER
BENERE 0 0 0
LERRRESMERAE 0 0 0
10 HA— A0 TF Bk BA E B R %A -515,150 400,120 -915,270
—HRERETESE RS 1,763,670 1,363,550 400,120
— AR IERRBIEEAR TR S 1,248,520 1,763,670 -515,150
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LR E IE R4 EE 1 RAE 0 0 0
BEERMEHEES 0 0 0
REERMEHRES 0 0 0
I FHREAESHERS 1,248,520 1,763,670 -515,150




